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1 Introduction

RAN4 had discussed Relay coexistence simulation assumptions and results for a few meetings. This paper gives simulation results update for Case 2 and Case 4. 
2 Simulation assumptions
The simulation assumptions are consistent with [1] and [2].

For Case 2,

In 50% of the snapshots:

-
In each donor cell in the aggressor system there are 3 actively transmitting RN. The 3 RN are selected randomly from all the available RN in the donor cell.

In 50% of the snapshots:

-
In each donor cell in the aggressor system there are 3 actively transmitting UE. If there are more than 3 UEs in the donor cell, 3 UEs are randomly selected that actively transmit.

-
In each relay cell in the aggressor system there are 3 actively transmitting UE. If there are more than 3 UEs in the relay cell, 3 UEs are randomly selected that actively transmit. 

In each cell in the victim system there are 3 UEs actively transmitting. If there are more than 3 UEs in the cell in the victim system, 3 UEs are randomly selected that actively transmit.

The throughput loss is measured in all the UE-eNB links in the victim system.

For Case 4,

In each cell in the aggressor system there are up to 3 UE transmitting. If there are more than 3 UEs in the cell, 3 UEs are randomly selected that actively transmit.

In the victim system there are 3 UE transmitting in each donor cell. If there are more than 3 UEs in the donor cell, 3 UEs are randomly selected that actively transmit.

In each relay cell there are 3 UE transmitting. If there are more than 3 UEs in the relay cell, 3 UEs are randomly selected that actively transmit. 

The throughput loss is measured in all the UE-RN links in the victim system.

3 Simulation results
The following sections give simulation results on case A2-1, A2-2, A4-1, A4-2, C2-1, C2-2, C4-1 and C4-2.
3.1 A2-1
Table 1 Case A2-1 ACIR VS throughput loss

	ACIR
	20dB
	25 dB
	30 dB
	35 dB
	40 dB
	45dB

	5% Throughput Loss
	20.88
	8.68
	6.41
	5.57
	4.90
	4.43

	Average Throughput Loss
	9.30
	5.15
	3.40
	2.70
	2.44
	2.20
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Figure 3 Simulation result of case A2-1
3.2 A2-2
Table 2 Case A2-2 ACIR VS throughput loss

	ACIR
	20dB
	25 dB
	30 dB
	35 dB
	40 dB
	45dB

	5% Throughput Loss
	27.88
	13.68
	8.41
	5.57
	4.90
	4.43

	Average Throughput Loss
	8.32
	4.95
	3.20
	2.50
	2.34
	2.30
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Figure 4 Simulation result of case A2-2
3.3 C2-1

Table 3 Case C2-1 ACIR VS throughput loss

	ACIR
	20dB
	25 dB
	30 dB
	35 dB
	40 dB
	45dB

	5% Throughput Loss
	23.56
	12.53
	7.59
	5.49
	4.50
	4.02

	Average Throughput Loss
	6.85
	4.96
	3.34
	2.77
	2.56
	2.44
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Figure 5 Simulation result of case C2-1
3.4 C2-2
Table 4 Case C2-2 ACIR VS throughput loss

	ACIR
	20dB
	25 dB
	30 dB
	35 dB
	40 dB
	45dB

	5% Throughput Loss
	21.14
	11.03
	6.11
	5.09
	4.10
	3.83

	Average Throughput Loss
	6.56
	4.87
	3.24
	2.66
	2.40
	2.31
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Figure 6 Simulation result of case C2-2
3.5 A4-1
Table 5 Case A4-1 ACIR VS throughput loss

	ACIR
	15dB
	20dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	27.62
	17.09
	10.1
	5.68
	2.71
	1.23

	Average Throughput Loss
	18.01
	9.2
	5.48
	3.02
	1.17
	0.24
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Figure 7 Simulation result of case A4-1

3.6 A4-2
Table 6 Case A4-2 ACIR VS throughput loss

	ACIR
	15dB
	20dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	29.2
	14.52
	6.58
	2.33
	0.84
	0.02

	Average Throughput Loss
	22.3
	11.63
	4.06
	1.87
	0.54
	0
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Figure 8 Simulation result of case A4-2
3.7 C4-1
Table 7 Case C4-1 ACIR VS throughput loss

	ACIR
	15dB
	20dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	43.21
	25.8
	12.33
	7.87
	4.06
	1.53

	Average Throughput Loss
	15.63
	8.57
	4.72
	2.48
	0.92
	0.49
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Figure 9 Simulation result of case C3
3.8 C4-2
Table 8 Case C4-2 ACIR VS throughput loss

	ACIR
	15dB
	20dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	37.21
	17.24
	6.14
	2.4
	1.18
	0.74

	Average Throughput Loss
	18.91
	10.3
	4.74
	2.24
	1.01
	0.47
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Figure 10 Simulation result of case C4-2
4 Conclusion
This contribution gives updated simulation results for case 2 (A2-1, A2-2, C2-1 and C2-2) and case 4 (A4-1, A4-2, C4-1 and C4-2) which are proposed to be included in the spread sheet. 
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